Powerprep Plus 1 Quant
Set 4 Answers

Shayesteh.ir



1 ) C S ET 4 Correct rate: 93% Difficulty: difficult

(1/3)%10 + (3/4)x15 + (1/12)%x25 = 12.5



2 ) C S ET 4 Correct rate: 92% Difficulty: difficult
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SET 4

Correct rate: 86%

Difficulty: difficult



4) C S ET 4 Correct rate: 85% Difficulty: difficult

fx)=x(x—2)(x+2)
x =0
X =2
X =—2



5 ) D S ET 4 Correct rate: 84% Difficulty: difficult

O<r<v<x<y<z

0<1<2<3<4<5

r+v+y+z 14+24+4+4+5
Average 1= 2 = 1 =3

r+v+x+y+z 1+24+3+4+5
5 B 5 -

Average 2=

O0<1<2<4<5«<6

r+v+y+z 14+2+5+6

A 1= = 3.5
verage 1 7

r+v+x+y+z 1+24+4+5+6
5 B 5

Average 2=



6) C S ET 4 Correct rate: 91% Difficulty: difficult

V =nr¢h = 2000t = nr?¢l6r =1r3=125=r =75



7) C S ET 4 Correct rate: 88% Difficulty: difficult

C]_:S
CZ = 1/561 =1
Cs=1/5C =1/
1
C4=1/5C3=5—2 1
1 C :_:515C

1
Cn=1/5Cnr = gz
1
Cio = 1/5C9 :¥

Ca5 = 1/5624 ~ 523



8) C S ET 4 Correct rate: 89% Difficulty: difficult

3 5
100" ~ 100”7

X +y = 6400

3
x+§x = 6400

x = 4000
y= 2400

3

5
— —y =12 120 = 24
100x+100y 0+ 120 0
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9)A, B

SET 4

4<x<6
3<y<6
12 < xy < 36 square inches
12 < v < 36 .
12x12 ~ " S 12x12 square fee
! < < ! t
5 <XV <3 square fee
2 < < 6 t
o XY <37 square fee

Correct rate: 78%

Difficulty: difficult



1 O) D S ET 4 Correct rate: 73% Difficulty: difficult

Find the smallest difference between two digits, then the difference between the digits in the tens
place should be small, so you can choose the digits in the tens place as 2, 4, 6. Then the large two
digits in the ten's place should be the small ones. So there are two sets of numbers, (46, 29) (62, 49),

the smaller difference is (62, 49), and the difference is 13.



1 1 ) E S ET 4 Correct rate: 90% Difficulty: difficult

x+4+(2x+5-(6—x))+x+6—x+x+x+4+2x+5
= 8x + 18
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1 2 ) B S ET 4 Correct rate: 96% Difficulty: difficult

p+tr+s=1
r=1-3p
=p+1-3p+s=1=s=2p



1 3 )A S ET 4 Correct rate: 94% Difficulty: difficult

d=12k +5

d? = 144k* + 25 + 120k



14) D S ET 4 Correct rate:62% Difficulty: difficult

20%

0
75% X S50

= 60%



1 5 ) B S ET 4 Correct rate: 58% Difficulty: difficult

8x4%

= 0.128 = 0.13
2.5




1 6 ) A S ET 4 Correct rate: 85% Difficulty: difficult

20
8,000,000 100 = 1,600,000

16,000
1,600,000

0.01



1 7 ) E S ET 4 Correct rate: 90% Difficulty: difficult

whole price = 30%
sale price = 30 + 30xX40% = 429%

75
sale price = list price — 25% list price = 75% list price = 100 list price

= list pri _ 199 [ ] —100><42—56$
ist price = —c-sale price = — =



1 8) B S ET 4 Correct rate: 61% Difficulty: difficult

Set:(n,n+x,n+y)n+n+x+n+y=10
= 3n+x+y=10

—>n=1, 0<x,y<7

—n =2, 0<x,y<4

A:(2,3,5),(1,3,6)
B:(1,3,6)
C: (21315)) (1;3)6)



SET 4

Correct rate: 65%

Difficulty: difficult



2 O) 3/4 S ET 4 Correct rate: 48% Difficulty: difficult

v+ w°+x°=180= 110°+w° +x° =180 > w° + x° =70
w®+x°+y°+2°=180 = w° + x° + 2w° + x° = 180 = 3w° + 2x° = 180

= w® =40, x° = 30
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